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Orologi abbinati Nome: Soluzioni
Abbinal'orologio analogico all'orologio digitale. Risposte

1) 12 2) 3) 12 4) 12 ) |

9 /\3 9 { 3 9% 3 , D

6 6 ) M

5) 12 6) 7) 12 8) 12 4. G

9\/ 3 9 v 9 \ 3 3. L

6 6 6 6. P

7. K

9) 12 11) / 12) J

9 v ) F

: 0. N

13) = 15) 16) = u_ C

o—v 3 9 3 . E

6 /6\ 13 A

4. B

13400 ° (911 °“[12:200 " [12:18) |=—

. O
“(12:.00) "[12:18) ° [10:49) " [12:52)
"[816) "[11:24] “[ 515 " [ 1:48]
“12:31) “(416) °[333 "(319

[M atematica] www.CommonCoreSheets.it 3 1111106 gi gg % I: 6: %3 el




